| Composite Functions: | When two functions are combined into one function. f(g(X)) means

DU ST UT o~ You are substituting the function g(X) into the function f(X)
f(g(x)) is read as "f of g of x"
(9(x) g . .
5x+4y=12 and y=2x-3
substitution turns these two functions into one composite function:
f(9(X)) =———b 5x + 4(2x - 3) = 12
Given these two functions: f(x) = 3x2-7 and a(x) = 2x+4 Use these two functions: Not on the Notes sheet
f(X) = X2 - 5x g(x)=2x + 1
What does f( -3) mean?
1. Find f(3) 2. Find g(3) substitute -3 for x in the function f and simplify.
S(’ﬁ)zg(ﬁ -y 3(5) :)QS)-\U) Find f(-3) = (-3)2- 5(-3) = 9 + 15 = 24

F(%)=3()-7 D= o+ What does g(f( -3)) mean?
—St('Z) = %7 - IS Substitute the value of f(-3) for x in the function g and simplify.
f(»= @

9(f(-3)) becomes g(24) = 2(24) + 1 = 48 + 1 = 49



Given these two functions: f(x) =

From before we found that f(3) = 20

a. Find f(@))

T = ZE:) -y
(j C?o) =( o+\-j

LCIO) LSQO)\7

3x?-7 and g(x) = 2x+4
and g(3)=10

b. find g(f(3))
£(3)=3(2%-7

,F(})’; 27 -
fF(H~ o

9(22) = 2(zo)+4
(7o) = Ho+4

=3 000)‘7 =3002 23

Use these two functions: "
f(x)=x+5 g(x) =3x™-2

1. Find f(6a)

Fleny = G2 +5

2. Findg(m +1)
j(”’*!): 3(»%—/ Z‘——L

;5<"\L‘\’2W\ -\—\5 20,

= %Mli—(.m-k%-<

= ImMllm +|

Another way to write a composite is:

flg(x)) —|(fog)x)

Use these two functions:

f(x)=x+5 g(x)=3x-2
1. Find g(f(\-1/)) 2. Find (g~ /)(5) ’-5(9(5))
$) = ~tes %ﬁéﬁé\)’“’b
[
3(“() = 3(&)—2,:%4 0)(_ 770%
=75 =

Use these two functions:

fx)=x+5  g(x)=3x*2

1. Find f(g(x)) 2. Find (g o%(x)

= <7>fo1> +5 "’5()(*5>L =0,
S ey =5 (e

X At o Rl
= 13x% +30x+}
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